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CH1 : Functions and Models

Pre-Calculus

q\
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3x+6=0 ( Equation ('iJaly_o)
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f(x) =3x+6 (Function ylyisl)
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CH1 : Functions and Models

Solving the equations : Ulialwoll

X oo Ayl go solve the equation JIguw Luiso

1. Difference between two squares : (1sJpLo (w9 Lol

a’ —b*=(a-b)(a+b)
Examples :

1 x2—4=(x—2)(x+2)
2.x2 =3 =(x—V3)(x+3)

3.x24+4=0 No solution.

2.Common factor : ¢lyiiig Jolc
Examples :

1. 3x3—6x=0

3x(x2-2)=0

3x (x—=v2)(x+Vv2)=0
x=0,x=V2 ,x=—2

3. Difference cubes and plus of cubes : (2“0 £gon00l@Lo
(P +a?) = (x+a)** F xa+a?)

Ex : Solve :

1.x3+87?

=(x+2)(x?—2x+4)

2.x3—647

=(x—-4)(x*+4x +16)
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CH1 : Functions and Models

4. Quadratic equation : dusuyyiJl dalsoll

The Formula : (ax? + bx + ¢)
-Jlygild)l aQ)ping Jolgsdl ad)pin dusppill aloldl o) Uid)in ang)
Ex : Solve :
1. x24+5x+6=0
(x+3)(x+2)=0

x=-3,x=-2

2.x>2—=5x—-6=0
Solution :
=(x—-6)(x+1)=0

x=6,x=-1

811U Jolgl alau] (o (raol rod 13] rolsdl gl Ay i poa A @A~
: OJWIYgilJliaaimig. Al

—b + Vb2 — 4ac
X =
2a

Jaadicini bo Jiod $aJlg jrooll Gotd (o A8l winy . ol gilddl plaAiwl Jié

1.b?> —4ac >0 Ulaline Yla Wwal angy
2.b? —4ac <0 .alsgoll J1ai J
3.b> —4ac =0 .n6611lg Ja angig dalwoll JlAj
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CH1 : Functions and Models

Ex : Solve :
1. x°+5x+6=0
Solution :

b> —4ac=25—4x1+x*6=1>0,Two solutions

—b++vVb2—4ac -5++V25—-4x1x6 —-5+1
x: — —
2a 2 2

x=-2,x=-3

2.x°4x+1=0
Solution :

b?—4ac=0; 1—4=-3, No solution.

3.3x24+4x+1=0
Solution :
b>—4ac=0; 16—12=4 >0

_ —b+Vb2—4ac —4+V4 —4+2

x 2a 6 6
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CH1 : Functions and Models

Chapter ( 1 ) Functions and models

The graphs of functions
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CH1 : Functions and Models

A
ol
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CH1 : Functions and Models

3. Tanx

Period

wofg

27

—— X
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CH1 : Functions and Models

Domain : Jlaoll

" Note (1):

allJ Jinislpag R alao Uls oldo gl rodyjleg) ol xagj jan ude Boing YUlisl s
. (=00, ) 81i0)u laic AYgsUl (1A 019 (Audi6 Al Alacll &ion) real numbers

Note (2) :

ode dungollwlyiall ol 610l ga Jlaoll UL« dinlég) ol oo Jan Ll UlEsYI Gginl 13
AlacllhA

Note ( 3):
Jaoll o olioll Lot il liyle Lints . olio ule YlkisYl sginl 13] 7

Ex : Find the domain :
1. f(x) = x3+3x2+57?

Domain : R

2.f(x) = 3*+¥x—14+5x%+ |x—5|?

Domain : R

Types of
Intervals £laji

1- Closed Interval (A&)lszoJl 6)iQll)
0c4 (a2 2]l LIl AOLAYL 04 (uu 6jgnnoll Alacll Eron 64idlloda Liwi [0,4]
2- Open Interval (AaqiQoll6)iQll)
0¢4 (a2l (92 064 U 6jgnnoll alacll Sron 64iQlloaa Lisi (04)
3- Group (decgonoll)
Lol jlanl e pusil) We maAinig 04 (il h6 6 610l oaa Hdsi{4,0}
co— 00 U c J1IRIANQiQoll 6 id)loaAiiloila e
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CH1 : Functions and Models

3.f(x)=Vvx—3 ?
Solution :
.anlg J|J_CTJOQ"(\"}Q_QJ JAn) 6anlg dlAaiiio
6)ubYI ywjaig alacllnA Gle hildill &naid. ol jaallala Lo ol

x—3=0; x=3

S

D = [3,00) 3

oo januila Jla uo VA4l o Ygaialacllaic jgaall oo wljial

4. f(x) = \/x2—5x+6+3x2—5?
AWl wlilisyu miai Vg anlg alacl s (Lngj jan) 6anlg dlAaiiio
x?=5x+6=0; (x—3)(x—-2)=0

x=3,x=2
o +HHH

Domain = (—o0,2] U [3, )

alail gl ddnlo Lodin Euaig Uuipio) AAal alacyl A Gde (iitngo UALFO Agag Ale

5.9(x) = log(4 — x?)?

.anlgalaci A (odyjleg)) 6aalg ddAdiio

——————————————————— ettt

4—x2=0; x=2,x=-2

Domain (—2,2) J/ \L

-2 2
dnqi%o Lojla odyleqll o wipiall
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CH1 : Functions and Models

x—3

I =y

Solution :
.ol jlonl udlini. (olboell) 6aalgdlaiiio
x24+3x+2=0; (x+2)x+1)=0; x=-2,x=-1

Domain : R —{-2,-1}

vx—1
7.9(x) = 71 ?

ool jlonl Uiiwl + jaal alaci A lal (oldo + jan ) (uiladiie

x—1=0; x=1

bbbt

!

zeros : x>—1=0; x=1,—-1 !

Domain : [1,00) — {1} = (1,00)

g 3—x
LYy =
3
X
Solution :

Udol® o agng)oliiVl Ude yal hdé o ml@olldlAilioarng e
3 3
x=0; 1——=0; —=1; x=3
X X

Domain : R—{0,3}

Page | 11




CH1 : Functions and Models

Note (4 ) :

Qo alacl ha pdyleg) of jan A ULo . dyleg) of Jaa (o ksl ude JIgul sginl 1] |
alacllha Gle dungoll@Apiiiipll @éhiglaniod |

9.f(x) =Vv3—x—log(x —2)?

Solution :

S

3—x=0; x=3

!

3

x—2=0;x=2 Ly B SR E =Y

Domain (2, 3] l
dung0) dyitiioll Abhiol Jiod ag

A (o Wil (3) Ul adc i)l cidlel o
.logJl o vVl (2)J] Adc 6)iQllcinio e

\/x—Z7
Vx—3

8ol jon liiinlg AIA_CTQJQQ' R YTJhta)

10. f(x) =

b+

v

x—2=0; x=2 2

x—3=0 ; x =3 +++++++++

w <

Domain [3,0) — {3} = (3,0)

dunaolldAjiniie)l A9 nioll Jiod (ititQil o3 o 64iQ)
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CH1 : Functions and Models

X —2

?
x—3

11. f(x) =

Solution :
.ol jlonl Ldiligdnd o anlglaalilanlg jaa

x—2=0; x=2;; x—3=0; x=3

S I S U bbb

Domain = (—o0,2] U [3,0) — {3} = (-, 2] U (3, )

2
12.FX) = V2 —x + ";i ?

W=
Solution :

(UAllio 3) mlaoll jlenl eliiwlg alacl olaA hly)an
2—x=0;x=2 +Ht A+
x—1=0; x=1 i

2

------------- +H++H

Domain = [1,2] — {1} = (1,2]

Page | 13




CH1 : Functions and Models

13.g(x) = /2—\/5?

Aaleliaa 1al byl (i Wwad Ua

l
Domain = [0,4] \/ \\/

14. f(x) = 282,

Yx-1 Attt bt

A U A

Solution : i
2

---------- R RS e E

Domain = [0,2) — {1} 0

15f(x) = V |x - 3| ? +++++++++++ 4 ++++++++++++++++H+H+
x—3=0;;;x=3

Domain : R

16.f(x) = log|x — 3| ?

A RN N RV RN SR SN S SRR S SO

x—3=0; x=3
Domain R — {3}

oljleqll 1oy aigAal 3 aa )l Uil ol
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CH1 : Functions and Models

CoSX

17.f(x) = ———— 2

1—sinx

Solution :

T
1—sinx=0; sinx=1; x=

> ;;Domain = R — {g+ Znn}

18. Let f(x)be a function with D = (—3,5) and Range [2, ) ,then
Find the domain of g(x) =2 — 4f(1 — 2x)?
Solution :

XU ualllywgdll Jala 6ag2qoll o Jlaollude 15§ ol ouddl Jlodl 1aa ,o
G20l uywja L6 BN e piiiing Baollude 1545 s dua)lali oy bl Lol

—3<1-2x<5; —4<-2x<4; 2>x>-2; (=22)

Note (5):

ol yugdll pna G e Jlaodl ani . cos ol sin™! Lde J1§uwl sginl 13)
[—1,1] ywdilios dyglJu

19. f(x) =3cos 'Q2x+1)+m?

Solution :

—1<2x4+1<1; -2<2x<0; —-1<x<0; Dom:[-1,0]
20 F () = sin‘1(21— x) )

Solution :

.ol Jon clifiwl 691t oVl Eo . sin™! &o Jol=ill diplio
-1<2-x<1; -3<—-x<-1; 3=x=1 [13]

Domain = [1,3] — {1} = (1,3]
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CH1 : Functions and Models

21.f(x) = /1— x—17

Solution :

. J|A_CT\__)JQQ' Al )An

x—1=0:x=1 o
)

1—-vVvx—1=0;vVvx—-1=1; x—-1=1 ,x=2

I

Domain = [1,2] 2

1
22.1f f(x) =3 3<x <5 ,Findthe domainof f(x)?

Solution :

Domain : [3,5] — { 2} so [3,5]

23. If Domain g(x) =[1,3),f(x) = V2 —x, Thendom f * g (x)?
Solution :

AalaeVlh A ule Jlaodl &Aad Ulriov dold 153 Jga jala Jlao Llacl 1a]

U N rrrrrr e
g(x) i a l

fx)=V2—x;2—x=0; x=2

+++++++++++-(++ 1

Vi

Domain : [1,2]
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CH1 : Functions and Models

1
24. g(x) = ——=7?
9= e

6320 132l Ul 66 oo dUAL
2x—6=0 ;2x=6 ; x=3

Domain : R — {3}

25. f(x):{x2+9,x>2

Solution :

Al pe o AdAala 63g0goll WipiQl 6.lpo ga wsiiiio)l Ylpiodl Jlao

Domain : (—,2] U (2, )

26. The domain of f(x) = In((2 — 4x)(2x — 4))?

anlg odjleg) digAal anlg alacl ha

-------------------- +Ht+++ e

Domain: G,Z) 2

27.The domain of f(x) = m?

2—|x+3|=0; |x+3|=2 ;x+3 =42

x+3=2x=-1 e TS —
x+3=-2;x=-5 l l
Domain : [-5,—1] 5 1
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CH1 : Functions and Models

Exponential Functions (a*): duw)l cllpis)l

s JWlJoaall o uwll aclgd dsalpo lile AppVleUlyisyl VOJgAl b e

Law Example
150w 0 69.6 Goud 5 x0=1 70=1
g ylisllylaoe jusiaic _n_1 51
698l 6jub| YA =i olbollg X T xn X "3
VoA Ul b iy punll Gond Lpall o s ugea s
<. lJJJi” Xan=Xm+n X4X =X+ =X
auQjyy
Ul iy puwil e pai dowdll (o xm x*
auu Qi yulwll ygAy P X 72 =X
UAod (g Ego 1o UlHoUI YA 1Al
Jnla (Lo digao 6a1l9 694) laljgaj xm" = ymn (x3)? = x23 = 8
UdigQJl A
: I n 2
Jan) labigai Aoy s 6g8JlCuilAa 1Al xm:”vx_n x§:3x2
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CH1 : Functions and Models

4

fx)=a*,a>1 3

f(x) =3% 2% e* 25

Gl aaeligae Ul Cun e go puwl Ylyisl paubl -1

a* #Ulod=y 1aag x-axisJl &dady Vol Ylisyl -2

fx)=a*,0>a>1

f(x) =0.5%

2.71 5ol W) idio)dg

0

Wl Soluy ¥ ol glkisyl -3

if e* = =5 then x has no solution in this equation

a>b>c>d -4

Very important
notes
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CH1 : Functions and Models

Logarithmic Functions : wloiyjleqll

f(x) =logpa

base (Uulwl)

f(x) f(x)
A
f(x) = logs ()
r 0<b=1
- t-————f—— —t —t X -t
(1,0
v f(x) =log, x, Inx
log. x
EEE logp, x
log, x
3 : '_-,_-,:5;.-_;4" z ; , ; a>b >c
i.: ll':.!.r;

Losa bngo g Ul pdylegll Jalalo o
1 ol Mliiny adf Jldolayu. Lago Ugay Uluny Layiyslwll e
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CH1 : Functions and Models

Logarithm Rules

Rule1: logx =logqox
Rule2: log.x = Inx
Rule3: logaa=1

Rule4: log,x™ =mlog,x

Q : Find value of log, 16 ?
log, 16 = log, 4> = 2log,4=2%x1=2

5¢6 62cld gl

9
duglio Clwlwll GgAaiyl -1
1 odyleg) UA Jolzo Ugay Ul -2

Rule5: loga+logh =log(a X b)

a
Rule6: loga—logh = log(E)

Ina _ log. a olUlwlwVl il 7 6acld oaAii e
Inb B logc b LQJJQQ_J

Rule7: logya=

Rule8: log,1=0

1
log, b

Rule9: logya=

Page | 21




CH1 : Functions and Models

Uloijlegllg Ul de diwVl (o Ulegi Angy

Lo JIguul 5ging U

2> (bl llos)l JSluo)

Q1 : find value of log, 32 + log, 50 — log, 25

32 x50 3
log4T = log, 64 =log,4° =3

Q2 : find value of (log; 16) (logs 3)(log, 5)

16 I3 5 _In16 _ In4® _ 2ln4
3 " In5 Ind Ind  Ind Ind

=2

Q3 : find value of log, /40 — log, V5

3140

Q4 : find value of log, 4 26 411

l0g,6 2° + log, 41 =10g,4 2° +10g,6 277 = 610,42 + 2210g,4 2

1
=28x—=7

= 281 2=128 = 28
0816 i log, 16 ) log, 2+ 4

Page | 22




CH1 : Functions and Models

Q5 : write (logz 10 + logg 16) as one logarithm to base 3

6 1
- 23 2 _log; 10 + =logs 1
log, 0 08310 F 770, 3= 108310+ 7log; 16

= log; 10 + log; 162 = log; 40

1 1 1
Q6 : find value of
logz 60  logs 60  logs 60

1

Note that : log, b =
log; a

= lﬁgﬁﬂ' 3 + ].Dg;j[] 4 + lﬂgﬁﬂ 5 = lﬂgﬁﬂ. 60 = 1

S,
N

log,x = b ; ¢f°%«* = q® .x = a®

Lol podiyjlég) U Wke ywll (Lo Ualaill -2

a*=b; log,a*=1log,b ;x=1log, b

G e né 6 anlgodyleg) pualsea g dyleg) (o AT ode J1§udl sginl 13l -3
Ao Ualaijpd e pallg Gonl piacls
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CH1 : Functions and Models

Q7 :solvelog,3x +1 =4

/2,1—0?2 3x+1 — 94
3x+1=16,x=5

Q8:solvelog, 3x —2 =2

glogx3x-2 _ 2 oMl dUaleoll GO~y ViV elag 1l Jody
1 5ol Vleiny yulwilggal dolayl

3x — 2 =x° /4

2 —3x42=0;: (x—1)x—-2)=0; x=1 ,x =2

Q9:solveln3x—1=5

e’ +1

eln(3x-1) — p5 .3y 1= p%: 3y =¢%+1 :x = 3

Q10 : solve log, x +log, x — 3 =log; 9

log, x(x —3) =log33? ; logox(x —3) =2  Udhlodsaydigsi Uy 1-Jdidoeay
Wl rodyjlegll

/

x2—3x=4;x*-3x—4=0;(x—-4DDx+1D=0;:;x=4,x=-1

21-:ngE x(x—3) _ 22

1

x2—-7

1 2
1//oflﬁglfaﬁ={1a"3)

2

Q11 : solve log:
3
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CH1 : Functions and Models

Q12:solvelog,(7x —1) —log, x =1

7x—1
log, 2 =1

7x—1 7x —1 1
2T Z g1 =2,7x—1=2x;x=12
X 5

Q13 :solveln(x +4) —In(x —5) =1

4. & 4' el

x_

x+4=e(x—5); x+4=ex—5e; x—ex =—5e—4

—5e — 4

x(l—e)=-5e—4 ;x =—
1—e

Q14 :solveIn(lnx) =1

Eln[:inxj — e

Inx = e : e™ =g .x = p°

Q15 : solve logs x> + logs x = 40

3logzx +logzx = 40; 4logzx =40 ; logzx = 10 ; 31°8% = 310

x = 310

Q16:iflog, 3 = 2 then find log; 3x ?

1 1 3
log;3x =logz3 +logz;x =1+ log.3 5=3
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CH1 : Functions and Models

Q17 :solvelog;(5+ 4log,(x —1)) =2, x> 1
log5(5 + log,(x — 1)*) =2
3loga(5+logz(x—1)*)=32
5+log,(x—1)*=9
log,(x —1)*=4; 4log,(x—1)=4 ; log,x—1=1

logzx-1 — 3 .. y_1=2: x=3

Q18 :solve e?**1 =4

n4—1

ne®**l =n4. 2x4+1=mn4 : 2x =4 —-1;: x = 5

Q19 : solve 32**1 =2

logs3%**! =log, 2

(log;2)—1
X = — 5

Q20 : solve 25* — 2(5)* =3
(5)H*—2(5)*—-3=0; ((5)*—-2(50*-3=0
(5*-3)(5*+1)=0

5*—3=0;5*=3; x=1logs3

54+1=0 ;5% -1

Jalllae Jeay ayleg ey sgluy Jinine ouwdl Ylgisyl
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CH1 : Functions and Models

Q21 : solve e>* — 4e3* =

ed(e?®* —4)=0
e —4=0: e* =4 : ne* =4 : 2x=In4
In4 1

X = 7: EIué} — Inv4 =1n2

Q22:x = %ln9 + In3, find e?*

2x = In9 + 2In3 = In9 + [n9 = 2In9 = [n81
er — e}/ﬁBl =81

Q23:16*—-4*—-6=0
u=4*

uw—u—6=0
u-3)u+2)=0,u=3,-2
4* =3 ,x = log, 3

4* = =2 Joa

Q24 : find domain f(x) = ln(l—zx -1)

1 1
16 O Ter = =0

b

v
0

domain = (—,0)

1o oy ¥ ouVlYlisylyga mleo Jlenlaagy VJIgull las oo
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CH1 : Functions and Models

Q25 : find value of x that satisfies log x3/? — logv/x = 5

.
"[E 3 -1
logio| —1 ) =5 ; logio (l'f * .YT) =5; log;px =5
"rE_
x = 10°
Q26: find the domain of f(x) = !

In(7—x)
ool jlanl Ll + alacl hA 1alodyleqllg ool )silaiii o ude Geing JIgull

7—x=0;x=7

o I S O
In(7—x)=0

v
=% = 0,7 _x =1;x=6

~N

domain = (—o0,7)/{6}
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CH1 : Functions and Models

Composition wllpisVlciiayi

JATUIES! JAla ylpisl augsi ga Yoyl 1aa Iato

fog(x) means f(g(x))——> fuliovlJalxgyliovl pugipisig

Ql:f(x)= x*+3 ,9(x) = Vvx, Find fo g(x)and g © f(x)?

Solution :
fog) =flgx) = f(Vx)=(x) +3
gof(x)= g(f(x) = g(x*+3) = Jx2+3

Q2:f(x) = +x ,g(x) = V2 —x ;FIND Dom f o g(x)?

Solution :

Dom f 0 g(x) = Domf(g(x))

flgx)=f(V2-x)=|V2—x=V2—x
Dom(V2-x); 2-x=0 ;x=2

L L

Dom : (—o0,2]
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CH1 : Functions and Models

Q3:f(x) = % sg(x)= x%Z ; Find Dom f o g(x)?

Dom f(g(x)) = Dom f(g(x))

o= 1) -

X—2
Dom f(g(x)) = R—{2}

Q4:f(x)=+x243 ;g9(x) = Vx—3 ;Find Dom f o g(x)?

Solution :

Dom f(g(x)) = Dom f(g(x))

flgtx) = f(\/x—3)=J(Vx—3)2+3

x—3=0: x=3 +H+++HH+
’

(Vx=3) +3=0; (Vx=3) =-3
(Vx=3) ' =-3,x-3=-3 ;x=0 oasil

i B

Domain = [3, )

role JAuiny ullis VUl ulaial gl jaall &o &l i Lojla wiiniicayill oo
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CH1 : Functions and Models

2x?+4 ,x<1
Q5:If f(x)=3x—1, 1<x<4
x+1, x> 4

Then f o f(1)?

Solution :

fUW = fRM*+4)=f(6)=6+1=7

Q6 f(x) = V2 —x, g(x) =+x, find Dfog

alacl das eling auleg )an Uo Ugao AW YIS Ul AL

//2'
fog=f(g) =v2—+x
---------- R O B = N
forvx,x =0 J
0
2 — \/E =0;x=4 E Em S n e S

D = [0,4]

r<—

Q7 :If h(x) = 5% and the domain of f(x) = [3,8],then the domain
of foh(x)?

Solution :

Domain f(h(x)) = Dom f(h(x))
f(h(x)) = f(5%)

3<5%<8;logs3 <logs5* <logs;8

logs3 < x <logs8 ;Domain : [logs3,logs 8]
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CH1 : Functions and Models

Q8 :If f(x) = e?* and g(x) = Inx ,then fo g(3)?

Solution :

f(g(B)) — f(ln3) = p2in3 — l!’,.En32 =eln9 =g

Q9 :Find fog(x),if fx) =x*—-1;gx)=2x+17?
Solution :

fla@)=fx+1)=Q@x+1)2—1=4x2 +4x+1—1 = 4x? + 4x.

Q10:/f f(x) =3x—5and f o g(x) = 12x* — 6x + 13, then g(0)?
Solution :
£(g(0)) = 3g(0) — 5 = 12(0)* — 6(0) + 13 ;3g(0) — 5 = 13

3g(0)=18; g(0) =6

Q11 :If f(x) =(x—7)*and g(x) = gx ,then g o f(x)?

g(f () = g((x — 7)2) = 4/&7 = 4lx-7]

Q12:If f(x) =sinx, g(x)=x%2+3,Findgo f(mn)?

Solution :

g(f(m)) = g(sinm) = g(0) = 0* +3 =3
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Decomposition wiiayillelo
ISV LA Lo Lo wilingg LisT ol (uilfis] (o Ugao UlLis] lign =
Ql:h(x) = (x —3)? ,h(x) = fog(x), find f(x),g(x)
flx) = x?
gx)=x-3

Q2 : h(x) = sinx, h(x) = fog(x), find f(x), g(x)
flx) = x3

g(x) = sinx

Q3 : h(x) = sinx3 ,h(x) = fog(x), find f(x), g(x)
f(x) = sinx

g(x) =3

1

Q4: H(x) = e H(X) = fogoh(x), find £ (x), (), h(x)

R | =

fx) =
g(x) =x

h(x) = x + sinx
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Even and Odd

common even functions : x2,x*, |x|, cosx, any constant function

common odd functions : x,x3,x%, sinx , tanx

UL UL o -x 9 X UIKLB VI 0 UAGRT (5310 91 LD UIKLBUI LA 131 AJanil

] [
" eve n\> “odd
QU UllbIJI ‘-‘,‘ vAgi ilylalal
| 90X UAJGR] ,:' Qb yudi ga x —
UAYg=d @il yuei UA) X Q=) ;

V9]

[ ) =N 2
=/ peither / L/ TN

Angyod Al "L

ypdolce A
iUl
I

-X 9 X UG (Lo Yy auug aae yAJgRi(ao) o
e Any even functions symmetry about y-axis
Any odd functions symmetry about orign

e sinx? even

tan|x|, even
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ClUAg wAugUl (o VY dUWI bl )l plaaiwl lala (Ao Jsuuollyasy e
even or odd Aog o JIgul )b 63g2g0)l LIS Euon Cuilh Jla po
even + even = even
odd + odd = odd
even + odd = neither
even X even = even
even X odd = odd

odd X odd = even

Q1: f(x) = x3 + x, determine whether f(x) is even, odd or neither?
odd + odd = odd
UAYg= il Ay riny JIguul Ja Lyl ylaollg
fF(D=1+1=2
f(-1)=-1-1=-2

L odd 1Al Lo o A aa =)l ywdi yaygsill QiU Ul Loy /

Q2 : f(x) = x3 + 1, determine whether f(x) is even, odd or neither?

odd + even = neither

VAl A9y ih olaAiwl
fF(D=1+1=2
fF(-1)=-1+1=0

neither |al (il (o o \e A g b adl Loy
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Q3: f(x) = x% + 1,determine whether f(x) is even, odd or neither?

even + even = even

Q4 : f(x) = x|x|,determine whether f(x) is even, odd or neither?
odd x even = odd
UAYg=I Ay iny JIguul Ja eyl ylhaollg
fF()=1x1=1
f(=1) = (~Dx() = -1
\ 0dd 131 Dy Qgpi 0 UA) 232l yudi uA)g =l A3U U Loy,

Q5: f(x) = |x|sinx,determine whether f(x) is even, odd or neither?

odd x odd = even

3

Q6: f(x) =

X
> ,determine whether f(x) is even, odd or neither?
x?+|x|+3

odd odd
= = odd
even + even + even even

Q7: f(x) =[x — 1] =[x + 1]
dogleo e Wiy laigalelag uAugsil déya Ul plasiwl (taoy U JIgudl las
f()=0-2=-2
f(-1)=2-0=2

odd 1Al Wl Ugi o (A A =Jlyudi gDl QU Ol Loy
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sinx?
Q8: f(x) = oy

even _ even
odd — odd =~ odd

= odd

Q9 : f(x) = xtanx?,is symmetry about ?

odd x even = odd (sym about origin)

Q10: Which of the following is an even function?
a) x* + 3x
b)2 —3x
c)1+2cosx

x3—x

) 1+ x?

Q7 1:Which of the following is an even function :
a)x*+4
b)2x—1

x° —x

£ 5+ 3x2

d) 1+ sinx

Q12 :1f f(x) =x*+ x+ a,an odd function,Find (a)?

@)z f-x)=(-x)*-x+a=-x*-x+a
b) 4 —fx)= -x3-x—a
c)0 —
f(=x) =—f(x)
d) 1 -x*—x+a=-x*—-x—a

—x}—x+a+x*+—-x+a=0; 2a=0; a=0

Page | 37




CH1 : Functions and Models

Q13 :if f(x)is even,g(x)isodd, f(3) = —4,g(1) = 3, find fog(—1)?
f(x)even means f(=3) = f(3) = —4

g(x)even meansg(—1) = —g(1) = -3
fog(-1) = f(g(-1)) = f(-3) = —4

Q14: f() =1In (> u 2)
fB)=1In5
o =n() -l - =

odd 1Al Wl Ugi o (A A Il yuei gDl QU Ul Loy

Q15: f(x) = e?tX — 27X

f(Q)=e3—e?
f(=1) =e'—e’=—(e®—e")

odd 13l Wl Ugi o (A A Il yudi gDl QU Ul Loy
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New function from old

WlilisVl ule laloe UAooll Gilpusill Elgil e yujall 1ad uo Wanii
Elgil A3AS g

Shifting Reflection Shrinking

and ;

daljyl ¢ uulasivl Stretching

ode P83 dulala Wl ol kAl pandin Wil YT haliw Elgilll Eton uo
(y-axis) Aol ude 1igi dunjla Wlpasig (x-axis) Jlooll

1-  Shifting daljJl
el Eoalldudoc JAUA o WUlLio\) daljllygAl

Vertical and Horizontal Shifts Suppose ¢ > 0. To obtain the graph of
y = f(x) + c, shift the graph of y = f(x) a distance ¢ units upward
y = f(x) — c, shift the graph of y = f(x) a distance ¢ units downward
y = f(x — c¢), shift the graph of y = f(x) a distance ¢ units to the right
y = f(x + c¢), shift the graph of y = f(x) a distance ¢ units to the left

s
]

Lo.i._J_.J_(y-aXis) Jouwlg uodeM ylisVlelpai glpisyl @)l ol duloc UT hallj
L (x-axis) [jluyg Ugos A8yad Xu usladl yugdll ala e allg &oall duloc
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yA
/L y=Fflx)+e¢
I
|
y=flx+e) C:y=ﬂﬂ y=flx—c)
///ﬂ\J %//ﬂ\J 7/’/ﬁ\J
———— ————
|
0 | :
I
| / y=flx)—c
I

Q1
Given the graph of y = Jx, use transformations to graphy = \/x — 2, y= /x — 2

YA YA VA

Lt /
0 i ' ’ / * 0 I2 &
==

y=yx y=x—2 y=x—2

Q2 : f(x) = x? + x, has translated 2 units right then 3 units up, write the
new function.

stepl: f(x)=(x—2)2+(x—2)
step2: f(x)=(x—2)2+(x—-2)+3
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Q3 : f(x) = x? + 4x + 5,what shifts happened to f(x) = x*

uJ.nUIUIJ_J_oUIuJ.cLLLnguLJIulMIMﬁd&MdbﬁIMemLm) .

E\JJ_oJ|dLoj|L_J|gJQQ\\‘
Aalsoll iy 1 '

1ol x% JolzoUgayUluny 2

(x + a)? + b JAub Lle Aalsolliaiod xdzm

cHaiioni 3

f(x)=x>+4x+4—4+5
f)=(Ex+2)*+1
so shift up 1 unit and left two units

2-  Reflection

vy = —f(x), reflect the graph of y = f(x) about the x-axis
y = f(—x), reflect the graph of y = f(x) about the y-axis

y=fl—x)

e -.\\

y=flx)

B

Q4

0

y=—f(x)

1
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Given the graph of y = /x, use transformations to graph y=—+x andy = /—x.

ya YA YA

l-./ \

ol | X 0 X o]
o N o
Y=y y=7N<X F=v—=x

At ! c \1‘;\.U /s
D}-rddunﬂ Cﬁ‘\d S \Lg - fexa) i Shrnk Pbﬁi""h‘ﬂ?}
afoxy o stercn Nedialy o

e [ i Vert ;
ou‘l-s‘dﬂ‘\ e @ shink V&(Hmﬂ'y' \ £ C_é_) + Shetclv u:a.Uﬂ
a
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b Advanced Pobems

fooy . |2x+1] 5 wite He o Junchien efter
a- shift up owe  und-

~— selubion : :fcx); |2X+4|+'|
b- Hen QufF n3h+ 2 unds t

—* sclubicon s aecx)z IQ ( X-3)+ 4, + 1

C - dhan reflect Lo appub Y-axis

— sclubion - aecxj: /2 El=-3)44 ] +1

d"‘ -ud:m- S+f‘€+C.Lv V'U#CQ,uﬁ_ A ’}7‘mﬁ.5=

— Setubien : L) = 5 (12(—X~3)+-4/+ 1)

Sterclh Lexy = [ 4-x

Py P ) LR Sl
o _ Pz (S OV =57
* Jeoe J-’ (=14+%) ¢ A wi

—¥ Changes Hhat have loeen pjlgg dpaygiu@)),'y; X
: « 73 2 ar—)
wade are £ Ca}l (- o

I- reflechon albouls d_a!@

- Sluift r.-gut, by 4

uwib 3

Page | 43




CH1 : Functions and Models

-
ohtth  fexy= —2x*, ¢y, 3

‘—?‘S;egu.h(:h'.
(Prdet)) £yl g (%25 . 1)
& B gy | <] 7D
[ —

O(}jl“a‘l— x\
Fanction 7 ¥ Y= ¥* ‘sz

*Ch,
ges mod‘—?—b @reﬂled’im aboub X axie :—

(2-)sHeki Verkaally X33 @) skt uwp by 6:
—» Has stekch  Naven't

hanged teecause the
fange s O —» - !l

4

@—}Sh’.ﬂ- right by 1:

¢ 4

8 T T
OF9 547 €q¢4).

-3 ( C.2=1)% —?_) —V = —3()‘—')L+6 :
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If f(x) = x? — 4x + 7 is obtained from g(x) = x? + 1 What happened ?

" G bl T JUa o pa JIgull Ja) A8 Jaol

" 2a

b : The factor of (x) (45JLib),

X

a : The factor of x* (43,lib )
Old function :
gx)=x*+1

= 2a 21

(x,):(0,1)

New function :

0; g(0)=0+1=1

fxX)=x*—4x+7

2a 2%1

(x,y) =(2,3)

So,(New—old)=((3-1),(2-0))=(22)

x 2; f(2)=22—-4(2)+7=4-8+4+7=-4+4+7=3

So (2) units to right.

Up (2)units.
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Inverse Functions

Inverse

crereereeennnnnnnd eeeeeeeeeeennn :
f_l(a) f_l(x) ‘ llllllllllllllllllllllllllllllll
Wiy dn Al dn % - ™
UiVl dotd UKoY yupeill dots | | sin~1sin secsin™ x
bRE-]) Ui2o cos~ L cos sin cos™ 1 x
tan~1 tan costan™lx
-

£ Rule} if f~*(a) = b ,then f(b) = a
One to one Functions

UAol tun -1 Ughy Ul tiny ailo Ulkisl sy ywpeidl dotd slaul (o Aol oin
horizontal line test L. QoVI nAJI jUisl i Uc 1-1 YlasVIyla Lo Ialayaniyo

1-1 YIpioVl gisg Yiuingi oo dowpl péoll LAl &as 1Al

¥ YA
/ (0,1)
r X > X
2 <4 o
Not 1-1 1-1
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u--z""‘."-.‘.

Ao lal1alVl 1-1 iy Usinx, cos x, x2, |x]| e gqing __U|JJ_C'5|\__5T{".::CILJC'\3)LQ

1-1 WJI0AURIBYio ees.,
Q1 : which of the following functionsis1—1
a.f(x) =x*—6x+3
b.f(x) = e¥
c.f(x)=3x+1
ansisc

d.f(x) = cosx +3
e.f(x)=|x+5/—-3

Case1: f 1(a)
Ql: f(x)=x2—=7x+4,x>2,find f~1(-2)

Jug 22— Gl UlkisVl Al largRi il Ll X dotd v bo W JIgudl 1A a (dso
(il of f(x) Ulao 2— UAgg=is Lol J1guul

2=x*-T7x+4;x*-7x+6=0
(x—6)(x—1)=0
x=6,x=1

%
oo
Q2: f(x) =3e*—2e ™+ 1,find f71(2)
2 A9 =i QAU aae e whuall oo Gy yailbada Jaodl Jigudl Ao
ans is x=0

Q3 : f(x) = 3el™ — 2sinmx + x, find f~1(6)

ans is x=1
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,which of the following has no solution?

X
Q4 :let f~1(x) = ]

ol jon Lo dAiiioll iag.dlAiiio ii No solution

3x+1=0

_—1

T3

x? .

Q5:let f(x) = x2+1'f (x) = 3, find the value of x?
f~(x) =3so0
fB)=x
(3= ==
JO =57~

Case 2: f~1(x)

[ AWICigh A & ISl sy £ () sl

yoxJdagxuyJda Jasimi 1
A2 o U &goy =i 2

Q1l:let f(x) =x3+1, find f~1(x)

y=x3+1
x=y3+1
y>=x—-1
y=Vx—1=f"()
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x+5

. _ ; -1
Q2 : let f(x) x+1'fmd f(x)

_y+5
SR
xXxy+x=y+5
Xy—y=5—x
y(x—1)=5—-x

5—x 1

=f()

x—1

y:

X

o find f7®)

Q3:let f(x) =
3
T
x3Y +x =37
3V —x3YV =x
3V(1—x)=x
37 ==
T 1—x

X
y = logs(

) =f7H(x)

1—x

X
Q4 :let f(x) = find f71(x)
eV
2eY +1
2xeY +x =e”Y
e¥ —2xeY =x
e’¥(1—2x)=x

2e* +1
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Q5 : let f(x) =log,(x + 2), find f~1(x)

x =log,(y + 2)
4% = 410g4(y+2) =y +2
y=4"-2=f"1x)

Q6:let f(x) =x*+6x+5,x>0,find f~1(x)

x = y? + 6y + 5,we need to comlete the square
x=y*+6y+9—-9+5

x=(Wy+3)?%—-4

x+4=(y+3)?

y—3=Vx+4

y=vVx+4+3=F"1(x)

LE73E R4

le-;: Df~*(x) = Rf (x),and Rf 7 (x) = Df (x)
\_jfrange .L.J“/\ 2ie ddl Cua . allis)l range Aoyl ga 6aclQJl oda) olaAaiwl r&.o)i
Lodla Jauwl Jaoll Yl cun @io Yy ywpill Jloo Al Uhooll o dilo Ylpisl

ot
L2
Nl
R
M
.
R )
s

, _x+5
Q7:jﬁndrangeoff(x)—-x4_1
Rf(x) = Df~H(x)

_y+5
X = m
5—x 1
y=r—7=/"®

Df7*(x) =R— {1} =Rf
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homework

Q8:let f(x)=In(x—1) —In(x + 1), find f~1(x)

Q9 : let f(x) = 4V*% find f~1(x)

Q10 : let f(x) = x3+ 2x + 3 find x such that f~1(x) =1

Q11 :let f(x) = find range f(x)

1—4e~’

Page | 51




CH1 : Functions and Models

k?rﬁi‘gb“rﬁm'e'tﬁ-’c‘rf'an'é“fm“h”sf & .
! . (N

s

(‘\.,,4" T 8 Pt
\ 5
Eint » 22 . C5C Kz 5= = —g—
72 5
5
oSl « 2F & 2= seCKh: —— = —3=
2
| 3
% ¥ —A"E— r __?‘4__ Cask = tanx 4
/2=

b C
A
. 4in X cos X
o 0 ‘
1 \ 0
2
w NES -
/3— 2 2
K 3 NES
6 2 2
& R |
= Fow
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Tiwerse  Jor L1/r|\9¢>v\ov~&ﬂl§? o Jundteny,

= “w%%.
v

8in s X Sin oS~ X

ws cosX S Ffan” X
- X

Yon™ Fan X sec s

pelokes,

- arg 8in X means — Sin~ X .

e 8N 2X = ATnXcosX -
. COBRX = cOsx -r>lnx.
. sin (a+L) = Fina cosb X cosa sn b

ath) = cos aceslo +3nna6lv\\0

. cos C

fun chion Domain ;w_—_:—
s B8 X [—:g,:tg] -0
« banx (<1.T) e o
*oeesX [ 0,71 Bt

bt (50ed Luck
d
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: d -}—a 0S cos K s.'ﬁ'SiﬂY\
. D, O ¢ n -hsmx / - /
. Cl;)w, U),,}J)

S0 g gt RT oo g A\ Bl 5Y1 -

("ap Gl b 8 i Lo s SV 1D

. - i z =<
sty Py o9 aly % T2

1%
2
| B
S V)
e ‘}oiﬂ‘ff
2 2
A 4
Y
EL
2 2

AT L5 &)=l 13} ¥
lpro sl g3 Lo S)78)), Jbt LD c:,,;))|ab’n} o

B ' NedPRr
by AL Gpl3, 34k [F Ol P asip 05 P 1 4

: /.?)L_Jl
¥ Problema:
= cﬁnd He  Valiw ,,ﬁ 8insin 5,_%."
slep 1 .5;""_" < 27
skp2 ST - s*qnzo 22255 @IS
skefg? D‘ %, '
sin L _ZL-T ::z_rj JE d[)‘ ] cL_:J@)’)JI"\ALc

(1-0) Sin Jexls [
wP 5in"sin 5T TS

q = =Jr .
I 4 4
2- fan" +an ST
= T .
5T Jebd o o
T : T ry V- K
__é-m 5 5_{1 =6v"'5’0=)60/’ »b[",j.,«a.d
== )
wp- +ain fon 6:1' . ST o _
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2= find e valne coseos ST —y aAabhnle
i . Il-\ E b_La’
sepl ST ¢ o I =
q

skep3 D, = [o,T]

el O | A | S ( d“E‘l)zi’br/)l':’:‘))
€ ¢ s, ot
. 6w e

4- sin"gn 5T
e 4
BT 5 2
q (enl o
67 2T « T ,,;@Z.«pj
* :_2._,‘:/? a/sh, &5l
-

Sin~ Sin T
2

e

=L Jl.;(}\é‘) é’),y,""\)

. 8ino )
A -Mm'_' lan 2_31‘—

T
%717211 23T _ 2 -

q = 9 %180

—_—

F ,:,\,.'&._/wé"
ton +an 9T
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"VH'c:w +o Find Value a/f Sin cos™ X, Cos+am'x/

d-Find vabw o — csSn=3

L S

e .
gff{ 9:54'91-

=3
oS
(2
Sine-.—% ( __—f;) )

step 3: (751 Q‘E & I B“’%’”
2| o

L'

Step 4° cos sin"_-é - ces 8 = o5

%’oeind Vvalud aﬁ 8fvxsec-___§j

step 1:

9:366;3_

N\d He vodue 90{ 3in & f'an%
: - -,-a— 6 6 = ‘ILaW e
step1: 6 S
. - Hint -
step 2, gtep 3+ é\; Sin2e =
, e 2 2200 wsO
7 2
skep 4: S 2 tan 6. . sin 26
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L fnd vl o costar (24

e:"uv\—_ﬂ_
3
%“Lane

’3; 0

s tan (_—_i_)

= cos & = %_ .
5= Jind Valuo o sin (0F 2 4 cos Z)
I
E, :

—» Sefubicsv i~

Sin (a+b) = Sin aX@s b 4 ccs axSinb

o

—ﬂ_

A}

\

\

Sin s b 4 cos cos F 4 cos ccs‘% ¥ Sin cos
S

C‘

ﬁnm.s"%y (%)+ (-%-)4« S‘-ncos_%

~1, i W
0F9G SUF 6962
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CH1

01

Q2

03

Q4

: Functions and Models

207
: find cos™?! Cos —=

231
: find sin™?! sinT

157
: find tan™! tan——

: find cos (2sin”

1

5

4
)

homework
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Uﬁu): )O-X‘Q

6 ))a._& )=
j OJD,%OLOLL)P({J"J{“P*
¢ {alpls cid  « (0,0) \pi5 .
S
’4“‘%”-‘0-@;9# uﬂ).-).»ﬁu()’\_.\‘_,

-Nf 042_/6/))@),90)[__ JUU\;)(—
,ﬁ/lj \*"‘(—‘”
e
\4»—/\/
"4

~Ja-%*

ébauathz:
Find :
demibue. guad, W d%“
Foo = Y-3*
-Stlubisn:

His i a half  circle. (p At
wiHa cember (o,0) sl ik ..

Deomain = E—-.Q, Q_J

Ramge = [0,2]
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Range

~

rangeJ! 2Lyl (LiQ) ) A gy

e - ™
il Jlao alayl JUA o
aiyflogleo e ylaslylalal

auleq @iyl ogleo YlEiol JUA (Lo
A UM)A R

Ve

sin~! x, cos~1 x, sinx, cosx, a*,\/a — x2

Rsinx = [-1,1] Rsin™tx = [_—ﬂ z
’ 22
Rcosx = [-1,1] Rcos™tx =[0,m]
Rsin?x = [0,1] Ra* = (0, o)
R cos?x = [0,1] Ria—x2 = [O, \/a]
R |sinx| = [0,1] R(—/a—x?) = [—\/a, 0]
Rx? = [0, ) Rvx = [0, )
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Q1 : find Range f(x) = 2sin(3x —2) — 1

—-1< Sin(SX— 2) <1 \A Lodlg @il ode P§y Yyugddl JAla Lo

—2<2sin(3x—2) <2 6o Jlaollule
—3<2sin(3x—2)—1<1
so range [—3,1]

Q2 : find Range f(x) = 2 cos?(2x) + 1

0 <cos?(2x) <1
0 < 2cos?(2x) <2
1< 2cos?(2x) <3
so range [1,3]

3
3:find R = —
Q3 : find Range f (x) 2 + sinx
—1<sinx <1

1<24+sinx<3
1 2+sinx 3 ol lauld aie Aiglioll 6jublaldi

3>

_ W

\Y

2+ sinx
so range [1,3]

Q4 : find Range f(x) = 3e* + 10

0<e*<o
0<3e*<
10<3e*+10 <
so range (10, )
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CH1 : Functions and Models

Q5 : find Range f(x) =4 —x?+3
0<+y4—x2<2
3<3++4—x%2<5

so range [3,5]

Q6 : find Range f(x) = 2sin"1(x —1) —1

Q7 : find domain f(x) = 2sin"}(x — 1) — 1

Q8 : If range f(x) = [—1,5], find range g(x) =3 — 2f(x — 3)
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CH1 : Functions and Models

Q9 : find Range f(x) = 2|sinx| + 3

0<|sinx| <1

0 < 2|sinx| <2

3 < 2|sinx| +3 <5
so range [3,5]

x+5
x+1

Q10 : find range of f(x) =
Rf(x) =Df~'(x)

y+5

X ="—

y+1
=2 2w
y_x—l_f X

Df7*(x) =R— {1} =Rf

Q11 : find range f(x) = x* + 4x — 13

fX)=x*+4x+4—4—13
fl)=x-2)?-17
0<(x—2)2<w
—17<(x—-2)’<
sorange f(x) = [—17, )
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